NI, TN

713,261 - | EBOB‘
1791 312 i e Py st R .
': ?%’éfi"
#!.892457
- 7856 2093
84’! 3343
889 3500]
25394, aﬁ =
f';t,\'r/,sfg 375 A
| 50.80 | :Efgé*g_o
REF" ’:{) }g i . .
| | EX NUT I/4- 20 UNC
‘ OEN - A f4-201
i b a - L OCKWAS HER
S
N ]
w? | 1
' o QEMCOL SEAL*30 = - . )
w SHOWN SHATDED | -
T . o - = ‘
i , [ INPUT “OUTPUT |,
»8 N -C tﬂ’ CoLE HERSEE Co. | rese ‘
| ‘?('[-ipje 3 A U u U 200LD COLONY AVE.,SO. BOSTON,MA.,USA 02i27 : REF i ji
R | D SCHOTTKY : e
NN MEDICAL COMPARTMENT ||
ISOLATOR GUARD ;
| " MODEL NO. 4805I .
: NEGATIVE GROUND 213
\
| %—r—"‘) U { |  — Y
. L58 T L ~ 125.39 REF »I’
N £ ALL STEEL ?PAR‘rs VL.ATED | . . ooNorscair}-
WAS DATE BY MATERIAL DRAWN | CHECKED |APPRV'D. SCALE DATE DRAWNv .
1 . |vestma]. | 7-27.81 .§
] ’ FINISH t* DATE BLUE;RIN"‘I' ;  f
f | ECH 254 S wpbel . i@ TP cole Hersee Co |
AT “forse os | ToERARGES |TS O TKY | SOLATOR
METRIC [P g e | GUARD 75 AMFs - 480_5} i

TSR,

Confidential Property of Cole Hersee




HEATSINK

——‘ I—-— 0281 [7.141
H

1625

2907 [73.841

41273

3.250 REF [82.55)

[~e——— 2.500 [63.50] —==

[~————————— 5.000 [127.001

1252 TYP (31.80]

LOCKWASHER

2795 REF [7099]

Asanys

i

Avormee  Avamy?

No. 48070 Battery Isolator Guard

Max_ 70A attemator. Nogative Gr

Cole Hersee Co.

2001 Cony Averue, Bk, NACR121, U84
www.colehersee.com

0.060 [1.52] —‘1

©

HEX NUT, 1/4-20 UNC

& o

Revision Control Record

Rev. Description of Change ECNNo.| Date
B | NEWLABEL 01273 |8M6/01
C | BATTERY 2WASBATTERY1 [03526 [14/1803

HENCOL SEAL #30 SHOWN HATCHED

NOTES:
1. ALL STEEL PARTS PLATED

Unecs i pectcay note, b oty
faut olsrance
3 z,u.o..unn Dimnsions v
‘Decimai Dimensior
gt P

éorimaion
‘Gompany und ey natbe diciesed.

s Engirearing Oraming,
hooin 13 propristey t Cobe Hereae
o

wry v

‘Sancial Charnciutolcs;

Gttical Gharsctaristic, lating to Safoty mndlor

&

Cole Hersee Co.

20 Old Colony Ave., South Boston, MA, 02127
...,w A bt e Dt s ook oo 1 1 apeas Tprisias st ke i il e Phe 817-268-2100 Webs www.colehersee.com
Dipeounte A oo s st | O AL S e & Descizton: 70 AMP BATTERY ISOLATOR
ot G g T ot GUARD
et e e et | ot Creol o - Qrawing/ Current Rey.
o [=*=1:1 3 DPs B, V78S [pewe A |Pgiof1] . 48070 Cc




X732

5.36}250 —~

10kt [G.200)

515 L5 DA (2 HOLES) 48080

y 10.54 [#5]

N —

6" 15240 {«

ts,zf, {207}

A\

3 E=- 065 (238 REF

19.68 [775 7293 98 ———>

et/ 14,30 [2.50]

EEFR

152.40

Eod ——— L5290 g >

o 43040 BATTERY ISOLATOR GUARD
MAX, 42 AMP ALTERNATOR 12:% \D.C.
NEG AINE 6ROMMD

Confidential Property of Cole Hersee

®@
.08 [263] DIA. 2HOLES

FT%Z B3 TYR ®

lh
J %
#10 GA.GPT WIRE

L[—j% .

@ e
;I;

| 3505
J | Ez_a@] (=3
23.87 | -
® 940 & ﬂq
(R U

HEAT SINK, EXTRUDED ALUMINUM, BLUE DECORAL FINISH

(RED)

DIMEMSIONS : MLLIMETERS [NCHES]

DO NOT SCALE

o v e e

jLeT| E ) BYJLET] 1AS DATE { BY '/H/ y i '616 . 9 _/9 % /5

£ 2133 ML| FINTSH, DATE BLUEPINT
45 aup @ 1236 Vo o ol Tl COLE-HERSEE COMPANY
BReVA21143 Tt TRERAMGES | BATTERY ISOLATOR GLJARD

aJrEDRAWM 1] .ﬁl‘mw"f“ﬁw @__ 42 AP 48080

SPaiome Co.. we. TPRETs



A ——
-

ST W 2,V — ,
T3 28l LJ - e METRIC - j‘
3181 1.?2'4;‘ . ] v ‘
yoy 27551 TYP . !
L §255 320| gr s e > 41,27 NOTES:
| mjsswc.,soo ‘ ). ALL STEEL PARTS )
‘ : » A 82.55 PLATED i
B Sy Sy ~ 2. ALL DIMS. ARE = E
- Y ~ REFONLV ; ‘
-' 3181 > HENCOL SEAL® 30 R |
TR WITH FILLER - @ YR |
I SHOWN SHADED R
1 e5.10—= > |
o] y\—HEATSNK T
? , HEX NUTS, /4 -20 UNC - ERET |
§ ™ = Jﬁ fLWASHERS b
, ' 1 )
b = q
n i
'BATTERYI|ALTER NATOR|BAT TERYZ
Ub cocrrseeco
. |52 PATTERY | SOLATIE GOAED WDE4E90
) 1 MAX 98 AMP ALTERNATDR 12-36V I
K ‘ NEGATNE GROUND
4 [ 1 — .
3 DO NOT SCALE
JLET. WAS DATE IBY WAS DATE | BY MATERIAL. DRAWN | CHECKED |APPRV'D.| SCALE E_)ATE DRAWN
Ors Reg b oN3/a3
FINISH DATE BLUEPRINT
' “m?’!.?...,,"g':.‘.‘”ca
\SSUED _ [#/palls|weme = | ISOLATOR GLIARD 48090 |

CH-1808(4-78)

"

b e add
|

Confidential Property of Cole Hersee



MM IN ) B : : | 48092

1.52 0.060 165.10
37.13 ?Zgg 82.55
1.75 .2 . - , d
72.1% 2.840 7> 75 L
73.81 2.906 L} , \ S
82.55 3.250 N
165.10 6.500 SN
1828.80 72.000 "
1 mm? 16 ga 73,81 ‘
7" 7,
2 BAGGED PARTS
SCALE 12
NOTE 3
SHIPPED LOOSE
HENCOL SEAL #30

SHOWN HATCHED

STUD, 1/4-20, 3 PL =713 TYP

NOTES: '
STUD, #10-32
HEX NUT, 5 REQD ' , 1 ALL STEEL PARTS PLATED
| HEX NUT, 2 REQD 2. ALL DIM'S REF. ONLY
, ' = 3. SEALED POLY BAG WITH,
LOCKWASHER, 3 REQD I///P | OCKWASHER . 1-WIRE LEAD, 1.0mm?,
GPT, YELLOW, 182880
LONG WITH PACKARD TERM.
TR # 12015824 ATTACHED AND
7 . INFORMATION SHEET.
7214 ﬂ ﬂ
® B
FOR C. S. DELCOTRON ALTERNATORS
MAX. 90 AD:E ;TT;I;NATOR 12-36 V. D.C | | d
{ r—J U E
€ __T = RE
- | 152 DO NOT SCALE
' CAD GENERATED{ -
BLUE LET. WAS DATE | BY [LET. WAS DATE | BY MATERIAL DRAWN APVD | SCALE DATE DRAWN '
HEATSINK, B DPS %{' 14 EX22440 9/30/88
FNSH mco'e DATE al.us;mmeo : :
Hersee Co. ;
, Ao S S N us et ¢
METRIC | A| wowe |om|r| taswas | BATTERY ISOLATOR GUARD 48092 ‘
| ' ISSUED ry FOR C S DELTRON ALTERATOR 15

Confidential Property of Cole Hersee



LOCKWASHER, 3 REQ'D

3.338

1.000 [235.40]

6.000 [132.40]

4.000 [101.601]

4,469 [113.51]

Wy

4,812 [l2e.22]

S
1

[84.79]

_m_
|
—I ,—0.882 TYP [7.16]

1467 2 PL [37.26]

KSTUD, 5/16-18, 3 PL
_\ |

2.468 [62.69]

‘ Battery 1 ‘ Altermator ‘ Battery 2

No. 48120 Battery Isolator Guard

Max. 140A alternater, Negative Ground. 12-36V DG

Cole Hersee Co.

20 Ofd Colony Avehue, Beskon, MA 02127, USA

HEATSINK

Morainfoand onine catiog 2t www.colehersee.com ©

r0.068 [1.571

HENCOL SEAL #30
" SHOWN HATCHED

—

f

HEX NUT, 5 REQ’'D

b
_ D
N

Revision Control Record

Rev, Description of Change ECM No.| Date
C | NEWLABEL 01274 05M15/01
D CHANGED 120 TO 140 AMP ;10238

06/02/10

NOTES:

1. ALL STEEL PARTS PLATED
2. ALL DIMENSIONS REFERENCE ONLY

Tolerances Unless otherwise specifically noted, the follewing
are default tolerances:
* Z.pface Declmal Dimensions +-.02"
* 3-place Decimal Dimensions +/-.005"
* Angular Dimensions +/-1.0 Deg.
* Metric: Refer to equi English Dis slon Tol
=»» NOTE: AN toferameas are Non-Cumulative, <<<

Bimensicnal Units  All dimensions ara exprassed in inchas
except those shawn In brackets {xxx) are expressed in
millimeters

"REF." or an Asterisk {'} = Non-Toleranced Reference

PROFRIETARY INFORMATION  This Englneering Orawing, and the
Information ¢ontained herein, 15 pioprletary to Cola Hersee
GCompany and may not be disclosed, ra-produced, or Inany other
way ransfarred or communicated lo any other paity without the
express wiitten consent of an authorized representative of Cola
Heraee Company.

DES]GN CONTROL,  [tls the responsibility of the Indlvidual using !
teferencing this drawing to assure that the noted design revision
tevel agrees with the revision level of the Controlled Document
{Master D7awing), This Is a NON-GONTROLLED D@GUMENT unless
otherwlse specifically noted,

DO HOT SCALE - Dimenslonal varlation may eccut durlng piinting /

Key tor Speelal Characterstics:

Critlcal Characteristic, relating to Safety andfor
Regulatory Gempllance

E Significant Charactaristic refating to Process Control
(5PC)

Control Dimension relating to Form - Fit - Function
as dafinad hy Cole Hersea Company and/or the
Customer
{Note that the identification of any Characteristics as baing
"Special” doas pot alter the requirernent that ALL specificed

Cole Hersee Co.

20 Old Colony Ave., Souih Boston, MA, 02127
Phn: 617-268-2100 Weh: www.coleharsee.com

Description:

@

140 AMP BATTERY
ISOLATOR GUARD

Dimension, shown for clarification purposes only.
UsedOn . Scals: 1 . 2
or Ref.: .

repreduction.
orawn DPS Date 1/28/83

Drawn:

Responsible NIA
Englneer:

dimensions & folerances must be met.}
Pg.1 of 1

Drawing /

GCurrent Rev.

= 48120 D




MM IN - 48122

1 0.
101.60 STUD 10-32, CONNECT
7.13 0.281
o 13 1-g50 2540 L ; %3: TO IGNITION CIRCUIT
2% L 1 |
84.78 3.338 i 3 / ,— HENCOL SEAL 30
101.60 4.000 SHOWN HATCHED
115.08 4.531
g e
. . 74 / ",(
1828.80 72.000 4508 7/\,” /‘///(f/ 122.22
oo ga /////////// //
— 1 £t
L BAGGED PARTS
—{ 3728 SCALE 12
2 PLCS NOTE 3
152.40 LOCKWASHER SHIPPED LOOSE
LOCKWASHER, 3 REQD HEX NUT, 5 REQD HEX NUT, 10-32, 2 REQD
STUD, 5/16-18, 3 PL
£ &
I TTERY {ALTERNATOR[BATTERY zjemoN| (B
8478 OO oue saes 00
62.68 NO. 48122 BATTERY ISCLATOR GUARD 2
FOR C. S. DELCOTRON ALTERNATORS NOTES:
O N AT o I 1. ALL STEEL PARTS PLATED
! . 2. ALL DIM'S REFERENCE ONLY
] 3. BAGGED PARTS INCLUDE 1-WIRE
LEAD, 1.0 mm2 GPT YELLOW,
1828.80 LONG WITH PACKARD
HEATSINK, BLUE TERMINAL 212015824 ATTACHED
AND INFORMATION SHEET.
DO NOT SCALE
Confidential Property of Cole Hersee LET, yA3 DATE. { BY, L&T. as DATE [8Y ] MATERAL W‘"‘| ﬁ |W |”“"-E Ex22439 EX22627 "1‘[;75"/'::“
s Cole Hersee Co. DATE BLUEFRRTED
B 8748 12/29/93} BL. 20 OLD COLONY AVENUE, BOSTON, MA. USA, 02127
METRIC A| emuon [wm|r| Tamwe | BATIERY ISOLATOR GUARD 48122
ISSUED 2w [#F|ame: - |FOR C S DELTRON ALTERNATOR




OB WWNNNOOOOOO

IN 48160
359 ®
.250
.281
1920 ' 203.20
.000 ‘
660 e 101,60 ———=—4=50.80 6.35
.288
478 713 TYP.
g ar
& T MY A
.500 +
/
13.48 g % 122.22
A
| S
4 31— —1 6756 2 PL t=—
215.90
STUD, 5/16-18, 3 PL HER NUT, 3 ReU
LOCKWASHER, 3 REQD
| JAM NUT, 2 REQD HENCOL SEAL #30
M h SHOWN HATCHED
23.87 imi 19.05
f %1
BATTERY 1 | ALTERNATOR | BATTERY 2
88,34 ¥ _Ocle Hersee Co. 8351 UUU %wbu
MAX 200 AMP ALTERNATOR 12-36 V. D.C.
NEGATIVE GROUND
- TT
e = —_— Sy
158 —
NOTES:
1. ALL STEEL PARTS PLATED
2. ALL DIM'S REF. ONLY
DO NOT SCALE
LET. WAS DATE | BY |LET. WAS DATE | BY MATERIAL DRAWN| CHK APVD | SCALE DATE DRAWN
N/A LIZ \LV( N/A| 12 EX22999 3/10/89
FINISH >z DATE BLUEPRINTED
B ECN %00155 02/02/00| MA N/A % 20 OLDCCSOIN?AV;{E Eossgne m.(lzsa): 02127 @_
Al EEE®  [ewoso[w tammas | BATTERY ISOLATOR_GUARD 48160
ISSUED auss| aF |aae = wa |FOR C S DELTRON ALTERNATOR

Confidential Property of Cole Hersee



| f ’3 ‘28, 48 ‘ 6‘ |
, 57ill : ¢
‘je24824 N | . .
{8emi 50 o= ~Z15.90 —— _
4] 74 — , -
.k-‘?:nos o r‘ 101.60 . 2
:¢c9 85 27 B - YA , Ly '
Fihaz A3 ; j : . | A h
. AR - A e " T !
| 122,22 /
MR REF
3 - REF
Q- _J 2
! ) F
Jm \ 985 —af ! L——"*HB'KEF' |
R o\ LOCKWASHER _ o o
: t; ; ~HEX NUT, 5/16-18UNC
E m 1 y 3 I .
" : — 4 \'\,\ | . .
Lo > Sy : } : ®‘HENCA(_?~;xSEAh"30
i } | - H @ E SHOWN SHADED
"0 2O s\ B :
B U BE&.5) BATTERY | | ALTERNATOR | BATTERY 2
: ’ . REF. _ Tt Care HeRsEE Co.
NO 4816\ SCA/07 TAY BATTERY ISLATOR GUARD
MAYX ., Z50 AMP ALTERNATDR 12-24V DC ‘
® MNEGATWE GROUND |
* ' 11 g1
: T HEATSINK "NOTE o N
. CALL STEEL PARTS PLATED
v : MiET]K‘ C. = WAS DATE |BY|LET] WAS DATE |oy | (MATERIAL | TORWN |crecken [APPRVD] SCALE DATEDRAWN |
i) REVISeD MNOTE l;a/§4 % FINISH | DATE BLUEPRINT
| c| 34.92 ) P hl'l'.m,m.,.,,.wt's,ﬁes,,,m ‘
_ i , lssuen 307l |ye]  TOLERANGES 66 ANMP SCHOTTIRY ' ™
s ' e sl 123 | BATTERY ISOLATOR cuarp |18 1 61|,
! Confidential Property of Cole Hersee

e




@
w
9]
-—
NN UWUWNNNOOOOO

(e}
@
o
=N

IN

.062
.170

215.90

203.20

/
743 TYP

STUD 10-32, CONNECT
TO IGNITION CIRCUIT

- HENCOL SEAL #30

SHOWN HATCHED

22

LOCKWASHER, 3 REQD

l

~

88.34

METRIC

23.87

]

B

g%g 6'3* = 50.80 dl——m}éo‘;!_l' y
70 TN W
305 fy//y 4//{ ///f/ /////,4
!
4.31J

STUD, 5/16-18, 3 PL
HEX NUT, 5 REQD
HEX NUT, 2 REQD

/ LOC

[BATTERY YALTERNATORIBATTERY

".mm..cz

NO. 40162 BATTERY ISOLATOR GUARD
FOR C. S. DELCOTRON ALTERNATORS

MAX 200 AMP ALTERNATOR 12-36 V. D.C

NEGATIVE GROUND

HEATSINK, BLUE j

KWASHER

48162

BAGGED PARTS

SCALE 1:2
NOTE 3

(SHIPPED LOOSE)

7 —\
<
Zawron] (B [
83.51
62.68 | NOTES:
| 1. ALL STEEL PARTS PLATED
i 2 'ALL DIM'S REFERENCE ONLY
] 3. BAGGED PARTS INCLUDE 1-WIRE
158 LEAD, 1.0 mm? GPT YELLOW,
1828.80 LONG WITH PACKARD
TERMINAL #12015824 ATTACHED
AND INFORMATION SHEET.
DO NOT SCALE
CAD GENERATED
B ECN 24800 3/20/91| RO e m Cole Hersee Co. P
A ECN 24012 7127785 P | 1 B RY 1SOCAT U
[SSUED e |FOR C S DELTRON ALTERNATOR| 48162

Confidential Property of Cole Hersee




	48051(B)
	48070(C)
	48080(D)
	48090 
	48092(A)
	48120(D)
	48122(B)
	48160(B)
	48161(E)
	48162(B)

